Year 2 Homework. Handed out Monday 5% Fehruary. Due Monday 12* Fehruary

Missing number in the middle?
Do a subtraction, and solve the riddle.

MT+___=
30-17 =

m

[ - 25 =50 50 + 25 64-___ =
[ +11 = 40 40 - 11 = [64' - ] @‘“ [
+18 = 92 61 - = 32
97 - = 54 _ +45=94
31 + = 54 - 49 = 29




Year 2 Homework. Handed out Monday 5% Fehruary. Due Monday 12* Fehruary

Which 3D shape has
five faces? Tick the

correct shape.
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Draw one line of
symmetry on the
square.

41 people are watching

a film. Eight people leave
before the end. How many
people watch the film until
the end?

Insert a number
to make these

calculations correct.
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the total?
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Write two different ways of
making 10p using 1p, 2p
and 5p coins.

3x4=12
4x3=12




